Puissances de Dix (B)

736 = 8 = 126 =+ 6 =
736 = 0,8 = 126 =+ 0,6 =
736 = 0,08 = 126 =+ 0,06 =
736 = 0,008 = 126 =+ 0,006 =
736 =  0,0008 = 126 +  0,0006 =
294 + 6 = 189 =+ 7 =
294 + 0,6 = 189 =+ 0,7 =
294 + 0,06 = 189 =+ 0,07 =
294 =+ 0,006 = 189 =+ 0,007 =
294 +  0,0006 = 189 +  0,0007 =
124 + = 86 + 1=
124 + 0,2 = 86 + 0,1 =
124 + 0,02 = 86 + 0,01 =
124 + 0,002 = 86 + 0,001 =
124 + 0,0002 = 86 + 0,0001 =
245 + = 48 + 4 =
245 =+ 0,5 = 48 + 0,4 =
245 =+ 0,05 = 48 + 0,04 =
245 =+ 0,005 = 48 + 0,004 =
245 +  0,0005 = 48 +  0,0004 =
147 =+ = 4160 + 2 =
147 + 0,7 = 4 160 + 0,2 =
147 + 0,07 = 4160 + 0,02 =
147 + 0,007 = 4160 + 0,002 =
147 + 0,0007 = 4160 + 0,0002 =
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Puissances de Dix (B) Solutions

736 + 8 =
736 + 0,8 =
736 + 0,08 =
736 + 0,008 =
736 + 0,0008 =
294 + 6 =
294 + 0,6 =
294 + 0,06 =
294 + 0,006 =
294 +  0,0006 =
124 + =
124 + 0,2 =
124 + 0,02 =
124 + 0,002 =
124 =+ 0,0002 =
245 + =
245 + 0,5 =
245 + 0,05 =
245 + 0,005 =
245 +  0,0005 =
147 + =
147 + 0,7 =
147 + 0,07 =
147 + 0,007 =
147 =  0,0007 =
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92 000
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4 900
49 000
490 000
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6 200
62 000
620 000

49

490

4 900
49 000
490 000
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2100
21 000
210 000

126 +
126 +
126 +
126 +
126 +

189 +
189 +
189 +
189 +
189 +

86 +
86 +
86 +
86 +
86 +

48 +
48 +
48 +
48 +
48 +

4160 +
4 160 +
4160 +
4 160 +
4 160 +

6 =

0,6 =
0,06 =
0,006 =
0,0006 =

7 =

0,7 =
0,07 =
0,007 =
0,0007 =

1 =

0,1 =
0,01 =
0,001 =
0,0001

4 =

0,4 =
0,04 =
0,004 =
0,0004 =

2 =

0,2 =
0,02 =
0,002 =

21

210
2100
21 000
210 000

27

270
2700
27 000
270 000

86

860

8 600
86 000
860 000

12

120
1200
12 000
120 000

2 080
20 800
208 000

2 080 000

0,0002 = 20 800 000
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